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Matematika - 6.ro¢nik

1) Vynasob: a)5.(-5)= f) (-6) . (-12) =
b)(-1).8= g) 30.(-30) =
c)0.(-7)= h)(-2).(-71) =
d) (-6).(-9) = ch) 4. (-45) =
e)4.8= i)7.70=

2) Vynasob: a) (-100) . 3567 = f)(-2).(-9).(-3).1=
b) (-98) .65 = g)9.(-8).(-2)

c) (-987).0= h)(-1).9.(-12) =
d) (-21) .65 = ch)15.6.(-2) =
e) (-24).(-12) = i) (-15).(-1).(-2).(-1) =

3) Vydél: a)18:9= f)63:(-9) =
b) (-16) : 4 = g) (-144): (-12) =
c) (-36) : (-6) = h) 154 : (-11) =
d)81:(-9) = ch)0:(-3)=
e)(-1):(-1) = i)72:9=

4) Vypocitej: a)-36+5.(-2)= f)3.(-8)+5.2=
b)2.(-12-3) = g)30-(-7).(-2) =
c)(-1+9).(-3)= h)60-(-9).0=
d)-50+2.(-12) = ch) (-10) . (-5+6) =
e) (-5) . (15 - 25) = i) (+12 - 8) . (-11) =

5) Vypocitej: a)d.(-7)+4.(-5) = d)(-2).7+9.(-2) =
b)(-3).9+8.(-3) = e)(-8).5+5.7=
c)8.(4)+6.(-4)= f)3.4+(-4).3=

6)Urci celé Cislo x, pro které plati: a)x.5=40 d)55:x=-11

b)x.(-7)=-49 e)(-8):x=2
c)(-8).x=32 f) (-100) : x=-5
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Reseni

1) Vynasob: a)5.(-5)=-25 f) (-6) . (-12) = 72
b)(-1).8= -8 g) 30 . (-30) = -900
c)0.(-7)=0 h) (-2).(-71) =142
d) (-6) . (-9) = 54 ch) 4 . (-45) = -180
e)4.8=32 i) 7.70 =490

2) Vynasob: a) (-100) . 3567 = -356 700 f)(-2).(-9).(-3).1=-54
b) (-98) . 65 = -6370 g)9.(-8).(-2) =144
c)(-987).0=0 h)(-1).9.(-12) = 108
d) (-21) . 65 = -1365 ch) 15.6.(-2) =-180
e) (-24) . (-12) = 288 i) (-15) . (-1) . (-2) . (-1) = 30

3) Vydaéil: a)18:9=2 f) 63 :(-9) = -7
b) (-16) : 4 = -4 g) (-144) : (-12) = 12
c)(-36): (-6)=6 h) 154 : (-11) = -14
d)81:(-9)=-9 ch)0:(-3)=0
e)(-1): (-1)=1 )72:9=8

4) Vypocitej: a)-36+5.(-2)=-46 f)3.(-8)+5.2=-14
b)2.(-12-3)=-30 g)30-(-7).(-2)=16
c)(-1+9).(-3)=-24 h)60-(-9).0=60
d)-50 +2.(-12) = -74 ch) (-10) . (-5+6) = -10
e) (-5) . (15 - 25) = 50 i) (+12 - 8) . (-11) = -44

5) Vypoditej: a)4.(-7)+4.(-5)=-48 d)(-2).7+9.(-2)=-32

b)(-3).9+8.(-3)=-51
c)8.(-4)+6.(-4)=-56

e)(-8).5+5.7=-5
f)3.4+(-4).3=0

6)Urci celé Cislo x, pro které plati: a)x.5=40 d)55:x=-11
x =8 x=-5
b)x.(-7)=-49 e)(-8):x=2
x=7 X =-4
c)(-8).x=32 f) (-100) : x=-5

X=-4 x=20



